Handling Data - Discrete and Continuous

Once data has been collected to try and answer some question or other, it is usually necessary to organise and represent it in some appropriate manner before the process of interpretation takes place.  (Remember the mnemonic for the data handling cycle once an initial question has been posed, CORI: Collecting, Organising, Representing, Interpreting the data?).

Complete the questionnaire below with your own details:

· How much money in pocket?:


· Books on bookshelf?:


· CDs possessed?:



· Age?:



· Height?:



· Weight?:



· Time to run 100m?:

To answer the first 3 questions above involves counting individual, discrete objects.  Any data which can be counted is called discrete data.  Also, ‘in between’ values do not make sense eg You can’t in any meaningful way have 3.14 books or 61/3 CDs.

The second set of questions involve measuring in some form.  However, using the 3 rulers in the Measuring Revision sheets shows that no matter how fine we make the graduations the actual length always lies somewhere in between 2 points.  Similarly with age - there is no one absolute instant when you go from being 9 years old to 10; and with weight - from 40kg to 41kg.  However, in these cases the ‘in between’ values can make sense - your height can be 163.6cm, your age 91/2 years and your weight 40.25kg, for example.

All these points can be represented on a number line (which is what a ruler or scale essentially is) and data which involves measuring is called continuous.

Now have another look at your answers to the second set of questions above.  You will probably have given whole number answers to these. For example these might be 20 (years), 40 (kg) and 15 (seconds).  For convenience you will have given your answers to the nearest whole convenient unit and by doing this you have made continuous data into discrete.  So, when measuring height you might ask for this to be given to the nearest centimetre, and all values from and including 163.5cm up to but not including 164.5cm will be classified as 164cm.

A more sobering example is given in the Highway Code where the continuous nature of braking to a stop is broken into discrete distances for given speeds.

Now give some examples of discrete and continuous data of your own.
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